(56 2 AIRSFEHRS >+ I+ v ONR—VERERE]

FEEERLSAERATATE Y —+WT U DY - EXFAHEEFRHAHE> 5 —

117 : HARIZRET =28 100.00 =

2 I : HAfIRET %X 100.00 =
PRI PEE #) RE) LU P = 2EFR

117 : HARIZRET =28 100.00 =

2 {iI : HARISRET %R 99.285 =
FhEREERE LR EEERT > 5 —

117 : BARIZRET =28 100.00 ==

2 iI : HARIRET %X 100.00 =
REREERARERFHEET> 5 —

117 : HARIZRET =28 99.285 =

2 i : HARISRET %R 98.785 =
WU DY —ERLEREFMEBRTE 5 —

117 : HARIZRET =28 100.00 =2

2 iI : HARISRET %R 99.769 =

=

=

=

=

WU DY —ERLSILEEFRRIE 2 25—

147 : BAEIZRET#0100.00 = =

2 i : HARISRET %% 100.00 = =
FEFEE®R LEERFIKSTZ> 5 —

147 : BAIMRETR#299.777 = =

24 HARSRET %8 98.923 = =

S
MR

AR
&=F

=ls
S

JIH
5B

AR

B2

S

RIS

R

$F (XDOUFX AHTH)
1B (LWL Th'HE)

Fsh (BMDIEFS5  ELOB)

H (B H»DUL)
BR (DDFE 208)

& (bhEE HDL)

BR (RZ FAL)
B (BCFD U3PF)

&KX (hHTDE LUH)
st (haEdsn 0TE)

EZ (B<E 2350)
BZN (hUIES LADTT)

BR (B<D Dben)
BE (5AE DIRV3)

(Fv > R—> FERIERDEDMESTER]

BRI DF — LBINELL & 19

1fZ = 98.998 s (&£ :49.199 m=11u
2fZ = 98.009 = (Z£ :48.166 m=2 1
367 = 96.794 = (L :47.018 =31
447 = 944243 (B2 :44.672 R=>4 U
5 = 90.361 1 (F2:41.657 2=61iI
6471 = 90.046 = (T2 :42.819 F==51I
741 = 89.676 R (EZ£ :40.709 m=7fi

BRI EF — ADFIRER

= 94.044 =

HRE
HRE
HRE
HRE
HRE
HRE
ARG

49.799 =2 fiI)

49.795 ==3 fiI)

MON_T)
49.843 m=11i) :
49.755 =4 fi) :
/N Ti= i)
48.704 =6 i) :
47.227 =7 £I) :
48.967 m=5 i) :

(FLLER)
UN=319)

(FE)LLIm)
(FE)LLI7E)
(KBR)



